Geometry Semester 1 Exam Review
1. Two lines infersect as 2. In this figure, m41=(15x-5)° 3. What is m£Z1QMze
shown. What is the value of and mz2=(10x+35)°. What is
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4. In this figure, line t is a fransversal of lines m and n. A e8|
Which of the following statements determines that lines m X=2g
and n_are parallel? ~ 1/2 .
~Z3 and 45 are complementary el
D. zéandz8are supplementary “«— 78 >
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5. For what value of x is [/m in this figure? 6. If ayb, what is the value of xg
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7. What value of x makes 8. List the sides of ABCD in order
ADEF = AJLK? from shortest to longest.
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9. Which point lies on the 10. What is m£ZTQMz?e 11. Which term best identifies
bisector of ZPQR?¢
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12. Three survey markers are located on a map atf points H, I, and J. A friangle is formed by
connecting these markers by siring so that HI =150 feet, HJ = 245 feet, and IJ = 365 feet. Which

statement is true about the measures of the f AHIJ¢ . -
A. mzH is the smallest “mzH is the largest > 10 18 Lomge™
C. mul is the smallest D. m«lis the largest
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: 13. Let p=Two angles are adjacent. Let g=They share a common side.
D»  Write the conditional statement p—q. Now write the inverse, converse, and copfrapositive.
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art L éﬁ‘z"@;ﬁ 4. Provide a counterexample for the following statement: If an animal has fourlegs, then Tt is a
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15. Identify the hypothesis and conclusion of the conditional: If a Trlgp_gl@li_g,nighi,iyjongle, then

its two acute angles are complementary. &zicle € 5 ?/;aﬁif ey
Whatis The converse of the condifiondlstatement? y S
, . . - S - Lo S oo ppe bof A
{4 5 ':!':',‘ g TR ., P Dgvaagrt. i Spifen g L g B ettt AR AR R
AR R S I AR o (.,“' AR ;‘ [ /.. / F; . L,C

T Ok =& LT

X, Y, and z2

17. What are the valuel of

18. Whatis mzABC2 %7 ° 19. What can you conclude
about AB?
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